AP Physics - Moving Fluids
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There are two types of flow that fluids can undergo; laminar flow and turbulent flow.  Laminar flow is also known as streamline flow.  

Laminar flow is the motion of a fluid in which every particle in the fluid follows the same path as that followed by previous particles.  Basically it means that the particles in the fluid are traveling in smooth lines, one right after the other.  We can represent laminar flow by drawing streamlines, which are example paths that the fluid particles are traveling along.




Turbulent flow occurs at high flow rates and when the fluid is moving past irregular shapes.  In turbulent flow, the motion of the fluid becomes chaotic, and it forms eddies and whirlpools.  Turbulent flow absorbs energy and increases the frictional drag throughout the fluid.




Turbulent flow is very complicated and the actual motion of the fluid cannot be precisely calculated.  The mathematics needed to even approximate the flow is pretty hairy (and not all that accurate, models are used which come fairly close to describing the behavior, but the models can be off).  

We will deal mainly with laminar flow and ignore turbulent flow.

In dealing with flow through pipes and tubes, we will assume that the fluid is incompressible (pretty close for liquids, they pretty much are incompressible, but not exactly perfect for gas flow, gases being subject, as you remember from chemistry, being compressible).  We will also assume that they encounter no internal friction as they flow through the pipe.

Rate of Flow:  The rate of flow is defined as the volume of fluid that passes a certain cross-section in a given time.  In mathematical terms, this rate of flow is:
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Where R is the flow rate and v is the velocity of the fluid.  A is the cross-sectional area of the pipe.

Common units for rate of flow are cubic feet per second, cubic meters per second, gallons per second, liters per second, etc.  Almost any volume unit and almost any time unit can be used to express flow rate.

The flow rate must be a constant throughout the length of the pipe, as we are ignoring friction and assuming that the fluid cannot be compressed.  What goes in has got to be what comes out.

Imagine water entering a hose at one end, traveling through the hose, and then coming out of the other end of the hose.  The water that enters the hose in a given time has to equal the water that leaves the hose in the same time.  So R, the flow rate, remains constant no matter what happens inside the hose.
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The flow rate will be constant even if the radius of the pipe changes.

Upstream, the cross-sectional area, A1, is larger than the cross-sectional area downstream, A2.  The flow rate at both of these points must be the same.  The flow rate is:
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 v1 is the velocity of the fluid upstream, v2   is the flow rate downstream, A1 is the upstream cross-sectional area, and A2 is the downstream cross-sectional area.

So
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This is the equation that you’ll get to play with when you take the AP Physics Test.

· Water flows through a rubber hose 2.0 cm in diameter at a velocity of 4.0 m/s.  If the hose is coupled into a hose that has a diameter of 3.5 cm, what is the new speed of the fluid?
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The Nozzle Effect: When a fluid flows through a narrow opening, a nozzle, its velocity must increase.  We can see this in the following problem. 

· Water flows through a rubber hose 3.0 cm in diameter at a velocity of 5.0 m/s.  If the hose is coupled into a nozzle that has a diameter of 0.50 cm, what is the new speed of the fluid?
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That’s a pretty good velocity increase!
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Bernoulli's Principle:  A fluid's velocity increases, you have seen, when it flows through a constriction - the diameter of the pipe decreases.  To accelerate the fluid as it goes into the constriction, the pushing force in the large diameter area must be greater than the pushing force in the constriction.

This is shown in the drawing.  We have a horizontal pipe that narrows and then resumes its original diameter.  Attached at A, B, and C are small tubes filled with fluid.  The height of the liquid in these tubes indicates their relative pressures.  At A and C the pressure is greater than it is at B.  If y is the difference in height between the liquid columns, then the pressure difference is given by:
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This change in pressure that takes place in a constriction is called the Venturi effect.  The Venturi effect says that pressure changes are accompanied by changes in velocity.  

In the 1700’s Daniel Bernoulli (1700 – 1782), a Swiss scientist, experimented with water flowing through pipes.  He found that the pressure exerted by a liquid on its walls decreased as its velocity increased.  He found it to be true for both liquids and gases.  Today we call this the Bernoulli principle.   In simple form, Bernoulli's principle says this:


When the speed of a liquid increases, its internal pressure 
decreases.
This is a consequence of the conservation of energy.  Bernoulli developed an equation which relates pressure and velocity in a fluid system which is called Bernoulli's equation.
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Where const. is some constant, P is the pressure, ( is the fluid density, y is the height of the fluid, and v is the fluid velocity.

The 
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 term is the potential energy per unit volume of the flowing fluid.

The 
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is the kinetic energy per unit volume of the flowing fluid.
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We can analyze the flow of a fluid through a system using this equation.  

If we look at two locations in the system, we know that the sum of the pressure, kinetic energy, and potential energy have to equal a constant, i.e., they have to be the same, so we can write:
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Water flows through a pipe that has a constriction in it as shown.[image: image37.wmf]y

2



[image: image14.wmf]22

111222

11

22

PgyvPgyv

rrrr

++=++


Analyzing the terms in Bernoulli’s equation, we see that the potential energy remains the same and cancels out (no change in height, y).  Therefore:
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The initial velocity is smaller than the final velocity, so P2 has to be less than P1.  

Let’s use Bernoulli’s equation to examine a static system.

· [image: image38.wmf]A
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An oddly shaped tank is filled with water to a depth of 1.20 m.  Use Bernoulli’s equation to calculate the pressure at point B at the bottom of the tank.
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The system is static, so the fluid has zero velocity.  The equation becomes:
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Assume the pressure at point A on the surface is zero and that the y value is also zero.  The equation becomes:
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If we chose the downward direction to be negative, we get:
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Which is the equation we used before for hydrostatic pressure: 
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A container of water, diameter 12 cm, has a small opening near the bottom that can be unplugged so that the water can run out.  If the top of the tank is open to the atmosphere, what is the exit speed of the water leaving through the hole.  The water level is 15 cm above the bottom of the container.  The center of the 3.0 diameter hole is 4.0 cm from the bottom.

Let’s figure what is going on with the flow out the hole at the bottom.  We have the area of the hole A1 and the area of the container A2.

The water spurts out of the hole with a speed of v1.  The flow of water in the container, which makes the surface level drop is very slow by comparison.  So slow that we can say that it is ( zero.  So  v2 = 0.


The pressure on the top of the surface is the atmospheric pressure.  The surface acting on the water at the opening on the bottom is also the atmospheric pressure (actually it is a tiny bit bigger because it is slightly lower, but the difference is insignificant).  So we can let the two pressures equal each other.  So  P1 = P2.

Therefore, Bernouli’s equation,
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Becomes:
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This simplifies to:
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We solve for the velocity, v1:
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We can plug in the data:
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Applications of Bernoulli's Principle:  The Venturi effect is well illustrated in the classic hose nozzle.  Water, if allowed to pour out of the end of a one-inch hose, is not traveling at much of a speed.   Attach a nozzle to the thing.  The nozzle makes the water squeeze through a very small opening.  As it does this, its velocity increases greatly, and the stream shoots out like crazy.  Its pressure decreases as it goes through the nozzle.  This pressure drop does not immediately make sense, because you know that the stream of water blasting out of the nozzle can put a hurt on stuff you go squirting at.  Do not confuse the pressure that a liquid has within it with the pressure it can exert when something interferes with its flow.  The pressure within a shooting stream of water is low, but the pressure it can exert on something in its path can be quite large.  The force it exerts on things in its path is a result of the kinetic energy it has and its momentum.

Bernoulli and Flight:  Bernoulli's principle is often used to explain why birds and airplanes can fly.  One of the reasons that their flight is possible is because of the shape of their wings and the way that air flows over and under these wings.  Birds evolved the proper shape for a wing at least 135 million years ago.  Human beings didn't catch on until fairly recently.

In the 1880s a British scientist named George Cayley developed the cambered wing.  It shared a cross-sectional shape with the wing of birds.  It looks like this:




Here follows the standard explanation.  As the wing passes through the air, the flow rate in front of the wing on the top and bottom has to equal the flow rate at the end of the wing on the top and bottom.  The air passing over the top of the wing has to travel a longer distance than the air passing under the wing.  This is because of the curve on the top of the wing (the camber).  Since it is covering a longer distance in the same time, the velocity of the air on the top of the wing is greater than the velocity of the air on the bottom of the wing.  From Bernoulli's principle, we know that the pressure decreases as the velocity increases.  So the pressure above the wing is lower than the pressure under the wing.  Air pressure pushes the wing up to try and equalize the pressures.  This upward force is called lift.




For something to fly, of course, the lift must be greater than the weight.  Birds are engineered to be extremely light in weight.  They have hollow bones, no teeth, no bony tail, female birds have only one working ovary, etc.  This helps them fly as the amount of lift their wings must develop is very small.   The light weight of birds can be deceptive.  We think of large birds as being something like a turkey (which, at least for the domesticated ones) do not fly and are therefore quite heavy.  But the actual large flying bird is quite different.  The Physics Kahuna fondly recalls the wonderful Laysan Albatross (the fabled "gooney bird" of Midway Island).  These are large birds - they probably stand  2 - 3 feet tall and have a wingspread of around 8 to 9 feet.  On occasion, they would get in the way (like when you were mowing your lawn and you didn't want to run one over).  So you'd grab the critter by the neck and tote it to safety.  The first time the Physics Kahuna did this, he expected a turkey sized mass for the bird, and applied what he thought was an appropriate amount of force.  It wasn't appropriate.  The bird ended up being hauled into the sky with a terrific acceleration.  The bird was incredibly light.  It felt like it was made of a few sticks of balsa wood, some tissue paper, and stuffed with Styrofoam. 
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Other Bernoulli Applications:  Another application of the principle includes the chimney.  The chimney had a tremendous effect upon the history of Europe.  Up till the 10th century, people in many parts of Europe lived in large buildings in a huge room called a great hall.  In the winter, a fire would be kept in the center of the room.  Everyone - peasants, the nobles, etc. would sleep in the room to keep warm.  In the center of the ceiling was a hole that was supposed to allow the smoke to escape.  The smoke, of course, did not escape all that well, but would fill the room.  Nasty business - breathing smoke is most unpleasant.  The chimney changed all that.  A chimney is a pipe that extends from the room, through the ceiling, pierces the roof, and then up into the air.  The fire is semi-enclosed beneath it.  Wind on the outside of the house moves across the roof and across the opening of the chimney.  The air in the house at the opening of the chimney is not moving, so there is a pressure difference as a result of Bernoulli's principle.  The pressure above the chimney is less, so air is drawn from the room into the chimney and then out the chimney above the house.  This carries the smoke to the outside.  The chimney is said to "draw".  The air does this for two reasons, Bernoulli's principle and the fact that the fire produces hot air which, being less dense, is buoyed upward.  Bernoulli's principle is responsible for making sure that none of the smoke leaks into the room.  Some of the heat is lost in this way, but enough radiates into the room to keep it warm. 

After the invention of the chimney, houses were broken up into individual rooms, which was practical with the chimney.  The nobles removed themselves from the peasants – kicked them out.  Who wants to have a bunch of peasants lying about!  Eventually the nobles built their own separate houses.  The peasants were left to get by on their own, they ended up living in small, mean, little huts.  The rest is history.
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Other animals, besides birds, have made use of Bernoulli's principle.  Prairie dogs build their burrows with multiple entrances.  One of the entrances is always higher than the others.  The wind near the ground is usually less than it is above the ground.  The entrance that is higher than the others usually has more wind blowing over it.  This makes the pressure above this opening less.  Because of this, air is drawn into the other openings and comes out of the high one.  This gives the little critters a sort of natural air conditioning.
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Baseball pitchers and tennis players also make use of Bernoulli's principle.  The curve ball is a pitch that actually does curve.  When the ball is released, it is given a spin.  As it travels through the air, one side of the ball is going in the same direction as the air.  So the ball's spin adds to the air velocity.  On the other side of the ball, the spin is in the opposite direction of the air motion   So the air is traveling slower on this side of the ball.  The pressure is lower on the side with the highest air speed, so the ball is pushed to that side by air pressure; therefore curving.
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Tennis players learn the technique of giving the ball a spin when they serve.  This causes the ball to curve in the same way a curve ball curves  --  makes it harder to return.

Houses have had their roofs ripped off when strong winds passed over the roofs, creating very low pressures.  Air pressure then pushes the roof up and off.

Another example of Bernoulli's principle in action is the 'Bernoulli blower' at the Adventurarium.  The device has a big fan that blows a strong stream of air straight up.  A ball is then thrown into the air stream.  It stays in the stream and is not blown out.  How come?  Well the velocity in the center of the wind stream is greatest.  As the ball moves to the outside, one side is in the strong air stream in the center and the other side is in air that is moving slower.  The pressure in the center is less because the air is moving faster, so the ball is pushed to the center by air pressure and stays in the stream.

The Physics Kahuna will have shown you all sorts of marvelous Bernoulli demonstrations.  Make sure that you understand how these wonders worked.
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High Flight





Oh, I have slipped the surly bonds of Earth 


And danced the skies on laughter-silvered wings: 


Sunward I've climbed, and joined the tumbling mirth 


Of sun-split clouds -- and done a hundred things 


You have not dreamed of  - wheeled and soared and swung 


High in the sunlit silence: hov'ring there, 


I've chased the shouting wind along, and flung 


My eager craft through footless halls of air. 


Up, the long, delirious, "burning blue 


I've topped the windswept heights with easy grace 


Where never lark, or even eagle Flew  — 


And, while the silent lifting mind I've trod 


The high untrespassed sanctity of space, 


Put out my hand and touched the face of God.





Pilot Officer John Gillespie Magee Jr.


(Magee was inspired to write the poem while he was flying over England at 30 000 feet.  Not long after he was killed at age 19, shortly after he wrote the poem, in 1941 while serving with the Royal Canadian Air Force.)











THE GODFATHER 





``The Godfather'' is told entirely within a closed world. That's why we sympathize with characters who are essentially evil. The story by Mario Puzo and Francis Ford Coppola is a brilliant conjuring act, inviting us to consider the Mafia entirely on its own terms. Don Vito Corleone (Marlon Brando) emerges as a sympathetic and even admirable character; during the entire film, this lifelong professional criminal does nothing of which we can really disapprove. 





During the movie we see not a single actual civilian victim of organized crime. No women trapped into prostitution. No lives wrecked by gambling. No victims of theft, fraud or protection rackets. The only police officer with a significant speaking role is corrupt.





The story views the Mafia from the inside. That is its secret, its charm, its spell; in a way, it has shaped the public perception of the Mafia ever since. The real world is replaced by an authoritarian patriarchy where power and justice flow from the Godfather, and the only villains are traitors. There is one commandment, spoken by Michael (Al Pacino): ``Don't ever take sides against the family.'' 





It is significant that the first shot is inside a dark, shuttered room. It is the wedding day of Vito Corleone's daughter, and on such a day a Sicilian must grant any reasonable request. A man has come to ask for punishment for his daughter's rapist. Don Vito asks why he did not come to him immediately.








 


``I went to the police, like a good American,'' the man says. The Godfather's reply will underpin the entire movie: ``Why did you go to the police? Why didn't you come to me first? What have I ever done to make you treat me so disrespectfully? If you'd come to me in friendship, then this scum that ruined your daughter would be suffering this very day. And if, by chance, an honest man like yourself should make enemies . . . then they would become my enemies. And then they would fear you.''





As the day continues, there are two more scenes in the Godfather's darkened study, intercut with scenes from the wedding outside. By the end of the wedding sequence, most of the main characters will have been introduced, and we will know essential things about their personalities. It is a virtuoso stretch of filmmaking: Coppola brings his large cast onstage so artfully that we are drawn at once into the Godfather's world. 





The screenplay of ``The Godfather'' follows no formulas except for the classic structure in which power passes between the generations. The writing is subtly constructed to set up events later in the film. Notice how the request by Johnny Fontane, the failing singer, pays off in the Hollywood scenes; how his tears set up the shocking moment when a mogul wakes up in bed with what is left of his racehorse. Notice how the undertaker is told ``someday, and that day may never come, I will ask a favor of you. . .'' and how when the day comes the favor is not violence (as in a conventional movie) but Don Vito's desire to spare his wife the sight of their son's maimed body. And notice how a woman's ``mistaken'' phone call sets up the trap in which Sonny (James Caan) is murdered: It's done so neatly that you have to think back through the events to figure it out. 





Now here is a trivia question: What is the name of Vito's wife? She exists in the movie as an insignificant shadow, a plump Sicilian grandmother who poses with her husband in wedding pictures but plays no role in the events that take place in his study. There is little room for women in ``The Godfather.'' Sonny uses and discards them, and ignores his wife. Connie (Talia Shire), the Don's daughter, is so disregarded that her husband is not allowed into the family business. He is thrown a bone--``a living''--and later, when he is killed, Michael coldly lies to his sister about what happened.





The irony of the title is that it eventually comes to refer to the son, not the father. As the film opens Michael is not part of the family business, and plans to marry a WASP, Kay Adams  (Diane Keaton).  His turning point comes when he saves his father's life by moving his hospital bed, and whispers to the unconscious man: ``I'm with you now.''





After he shoots the corrupt cop, Michael hides in Sicily, where he falls in love with and marries Appolonia (Simonetta Stefanelli). They do not speak the same language; small handicap for a Mafia wife. He undoubtedly loves Appolonia, as he loved Kay, but what is he thinking here: that he can no longer marry Kay because he has chosen a Mafia life? After Appolonia's death and his return to America, he seeks out Kay and eventually they marry. Did he tell her about Appolonia? Such details are unimportant to the story.








 What is important is loyalty to the family. Much is said in the movie about trusting a man's word, but honesty is nothing compared to loyalty. Michael doesn't even trust Tom Hagen (Robert Duvall) with the secret that he plans to murder the heads of the other families. The famous ``baptism massacre'' is tough, virtuoso filmmaking: The baptism provides him with an airtight alibi, and he becomes a godfather in both senses at the same time. 





Vito Corleone is the moral center of the film. He is old, wise and opposed to dealing in drugs. He understands that society is not alarmed by ``liquor, gambling . . . even women.'' But drugs are a dirty business to Don Vito, and one of the movie's best scenes is the Mafia summit at which he argues his point. The implication is that in the godfather's world there would be no drugs, only ``victimless crimes,'' and justice would be dispatched evenly and swiftly.





My argument is taking this form because I want to point out how cleverly Coppola structures his film to create sympathy for his heroes. The Mafia is not a benevolent and protective organization, and the Corleone family is only marginally better than the others. Yet when the old man falls dead among his tomato plants, we feel that a giant has passed. 





Gordon Willis' cinematography is celebrated for its darkness; it is rich, atmospheric, expressive. You cannot appreciate this on television because the picture is artificially brightened. Coppola populates his dark interior spaces with remarkable faces. The front-line actors--Brando, Pacino, Caan, Duvall--are attractive in one way or another, but those who play their associates are chosen for their fleshy, thickly lined faces--for huge jaws and deeply set eyes. Look at Abe Vigoda as Tessio, the fearsome enforcer. The first time we see him, he's dancing with a child at the wedding, her satin pumps balanced on his shoes. The sun shines that day, but never again: He is developed as a hulking presence who implies the possibility of violent revenge. Only at the end is he brightly lit again, to make him look vulnerable as he begs for his life. 





The Brando performance is justly famous and often imitated. We know all about his puffy cheeks, and his use of props like the kitten in the opening scene. Those are actor's devices. Brando uses them but does not depend on them: He embodies the character so convincingly that at the end, when he warns his son two or three times that ``the man who comes to you to set up a meeting--that's the traitor,'' we are not thinking of acting at all. We are thinking that the Don is growing old and repeating himself, but we are also thinking that he is probably absolutely right.





Pacino plays Michael close to his vest; he has learned from his father never to talk in front of outsiders, never to trust anyone unnecessarily, to take advice but keep his own counsel. All of the other roles are so successfully filled that a strange thing happened as I watched this restored 1997 version: Familiar as I am with Robert Duvall, when he first appeared on the screen I found myself thinking, ``There's Tom Hagen.'' 





Coppola went to Italy to find Nino Rota, composer of many Fellini films, to score the picture. Hearing the sadness and nostalgia of the movie's main theme, I realized what the music was telling us: Things would have turned out better if we had only listened to the Godfather. 


							----  ROGER EBERT
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